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FOREWORD

The National Examinations Council of Tanzania (NECTA) is pleased to issue the
Candidates’ Items Response Analysis (CIRA) report for the Certificate of
Secondary Education Examination (CSEE), which was done from November to
December 2022. The report has been written in order to give feedback to education
administrators, school managers, teachers, candidates and other education
stakeholders on the performance of candidates for the Literature in English subject
examination.

The report provides a comprehensive analysis of the candidates’ responses on each
question based on their performance. It highlights the factors that contributed to the
achievements of the candidates as well as the challenges that the candidates faced
in attempting the questions. This analysis shows that candidates who yielded high
scores in different items demonstrated understanding and mastery of the content of
literature and literary readings; namely, novels/short stories, plays and poetry. Such
candidates also demonstrated adequate knowledge of different literary concepts,
assumptions and theories.

Furthermore, there were candidates who responded averagely to the items which
were tested in this examination. Their performance was categorised as average due
to moderate quality of their responses to the given questions. In addition, the report
shows that there were candidates who got low scores/marks in some items of
different questions and their overall subject performance was consequently low.
The performance of such candidates was categorised as poor following their
inability to exhibit the expected competences, knowledge and mastery of the
subject matter in their responses.

The National Examinations Council of Tanzania (NECTA) anticipates that all
education stakeholders will use the feedback provided in this report, to improve the
teaching and learning of the Literature in English subject. Hence the improvement
of the performance in future.

Finally, NECTA would like to thank all who participated in the preparation of this

report.

Dr. Said A Mohamed

EXECUTIVE SECRETARY
iv



1.0

INTRODUCTION

This report provides the analysis of the performance of the candidates who
sat for the 024 Literature in English subject for the Certificate of Secondary
Education Examination (CSEE) which was done from November to
December, 2022. The Literature in English examination of 2022 was set in
accordance with the new examination format issued by NECTA in
February, 2019 which aims at testing candidates’ competence and ability to
use the knowledge gained in the classroom in real life situations. According
to the format, the 2022 Literature in English examination was organised
into three (03) sections: A, B and C comprised of ten (10) questions.

Section A consisted of two objective questions; questions 1 and 2. Question
1 had a total of 10 marks and Question 2 had a total of 05 marks. Section B
consisted of four (4) questions; question 3, 4, 5 and 6. Each question
weighed 10 marks which made this section to have a total of 40 marks.
Candidates were required to answer all questions in this section. Section C
consisted of four (4) questions. Questions 7, 8, 9 and 10. Candidates were
required to attempt only three (3) questions in this section. Each question
was worth 15 marks. Hence, section C had a total weight of 45 marks.

This report provides a detailed analysis backed with figures and extracts
based on the candidates’ performance in each question. The analysis shows
the percentage of performance at three categories, namely good (65 -
100%), average (30 — 64%) and poor (0 — 29%). In the figures, three
colours have been used to clarify the performance analysis whereby green
indicates good performance, yellow stands for average performance and red
indicates poor performance. Additionally, the analysis of the candidates’
performance in all questions is accompanied by extracts that serve as pieces
of evidence to show how the candidates responded.

A total of 109,471 candidates sat for the CSEE 2022 Literature in English
examination. Among them 87,292 which is equivalent to 80.06 per cent
passed the examination with different grades. This indicates that the
performance was higher in 2022 than in 2021, whereby 79.56 per cent of
candidates passed with different grades as shown in table 1.
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Table 1: Comparison of candidates’ grades in CSEE between 2021 and
2022

Year 2021 2022

Grades A B |C |D |F |A B C D F

Percentage | 14 |6 |37 |33 |20 |1.28 |53 |357 |37.3|199

This performance of 80.06 per cent indicates that in 2022 the performance
increased by 0.5 per cent as candidates passed with different grades, as
shown in the Table 1 above.

ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

SECTION A: MULTIPLE CHOICE AND MATCHING ITEMS

This section consisted of two compulsory questions; which were questions
1 and 2. The section had a total of 15 marks whereby question 1(multiple
choices) consisted of 10 items with a total of 10 marks of which each
correct item weighed 1 mark. Question 2 (matching items) consisted of 5
items in which each correct item weighed 1 mark, making a total of 5
marks for this question.

Question 1: Multiple Choice Items

The question aimed at testing the candidates” multiple levels of cognitive
domains extending from remembering, applying, analysing and evaluating.
In this question, the candidates were required to choose the correct answer
from the given alternatives and to write its letter beside the item number in
the answer booklet provided. The question comprised 10 items numbered
(i)-(x), each item had 5 alternatives lettered A-E. Among the 5 alternatives,
one was a correct answer which candidates were required to choose while
the rest were distractors.

The question was attempted by109,471 candidates which is equal to 100

per cent of the candidates. The candidates who scored 3 to 6 marks were

59.05 per cent which is average, Furthermore 10.32 per cent of the

candidates scored 0 to 2 marks and their performance was weak; 30.03 per

cent of the candidates had good performance and scored 7 to 10 marks.
2




Therefore, the general performance of this question was good because
89.08 per cent of the candidates scored marks ranging from 3 to 10. Figure
1 illustrates detailed general performance of the candidates on question
number 1.
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Figure 1: The Performance of the Candidates on Question 1

Item (i) of question number 1 required the candidates to identify an
expression which does not exemplify some aspects of the functions of
literature among options given. The question was:

Which expression does not exemplify some aspects of the functions of
literature?

A Educating B Criticizing C Rectifying

D Expansion E Recreation

The correct response for this item was D, ‘expansion.” The candidates who
chose this alternative were correct because they managed to recall the
various functions of literature in society and were able to show that the
term, ‘expansion’ is not related in any way with the functions of literature.
Rather, it is the increase in size of something or an object.



Those who opted for incorrect responses did not realize that choice A,
‘educating’ is one of the functions of literature which is concerned with
instilling new knowledge, ideas and thoughts to the people reading literary
works as it raises people’s awareness and understanding of their society.
Choice B, was ‘criticizing” which is also one of the functions of literature
where by literature reveals what is right or wrong in society and then
prompts the people to choose what is right over what is wrong. Choice C,
‘rectifying’ is also a function of literature which points at social vices and
tells the society why and how to avoid them. Choice E, ‘recreation’ is a
function of literature which shows that literature is used to entertain and
refresh the people in society. Recreation is achieved by literary artists by
presenting incidents in a way that is funny and entertaining using figures of
speech, creation of characters and organization of incidents.

Item (ii) of this question required candidates to identify the figure of speech
which was used to refer to the statement given. The question was:

“Juma’s wedding which was held on 21% February 2016 in his house was
attended by millions of people.” What figure of speech has been used in the
statement?

A Symbolism B Imagery C Hyperbole

D Understatement E Sarcasm

In this item, the correct alternative was C, ‘hyperbole’. This indicates that
candidates who chose it understood that a hyperbole is a literary technique,
which exaggerates reality deliberately to make something or someone
appear more serious or intense than the reality. Alternative A, ‘symbolism’
was not a correct response because it is a literary technique which involves
the use of an object or a word to represent or stand for an idea. Alternative
B, ‘imagery’ was also not a correct response for this item because it refers
to the use of words or expressions which appeal to human senses, making
readers or listeners create a picture of what is read or said in their mind.
‘Understatement’ which was alternative D was not correct because it is a
literary device which makes things or people appear less serious or less
important than the reality. Alternative E, ‘sarcasm’ was also incorrect
because it is a literary device which involves the use of words that mean the
opposite of what is said to change a wrong idea or unpleasant behaviour.



Hence the candidates who opted for those incorrect responses were not
familiar with these figures of speech.

Item (iii) of this question required candidates to name the genre of literature
in which musical and sense devices are found. The question was:

In which genre of literature are musical and sense devices found?

A Prose B Play C Poetry

D Narrative E Drama

Alternative C, ‘poetry’ was the correct choice for the item. Candidates who
chose it demonstrated the understanding of the poetic and sound devices
whose function is to make poems easily sung or recited while at the same
time arousing interest and effectively delivering the intended ideas to the
audience. Choice A, ‘prose’ was not a correct response because prose is a
narrative arranged in chapters and paragraphs meant for reading not
singing. Alternative B, ‘play’ was also an incorrect response for this item
because plays are written for the purpose of being acted on the stage and so
they do not employ plenty of sound devices. Choice D, ‘narrative’ was not
a correct choice because a narrative is a story told for the sake of conveying
a moral to the audience hence it hardly employs musical features. Choice E,
‘drama’ was also not a correct choice because it is a work of art which is
staged by actors lively before the audience. Hence the candidates who
opted for those incorrect responds were not familiar with the given devices
found in the poetry.

In item (iv) of this question, candidates were required to identify a proper
name for a person or anything used by artists to present ideas in novels and
plays. The question was:

Identify a proper name for a person or anything used by artists to present
ideas in Novels and Plays.

A Human B Persona C Characterization
D Character E Animal

Alternative D, ‘character’ was the correct choice. Candidates who chose it
demonstrated ability to realize that a character is a person or anything used
by artists to present their ideas and messages to the intended audience.
Other candidates opted for the incorrect choices due to the lack of
knowledge on character. Choice A, ‘human’ was an incorrect response
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because artists do not only use human beings as characters in their works
but also other things such as animals and objects. Choice B, ‘persona’ was
also incorrect because persona is usually a voice of a person who speaks in
a poem hence, he/she is a character in a poem but not applicable in novels
and plays. Choice C, ‘characterization’ Was not a correct response because
it refers to the process of creating and assigning roles and responsibilities to
characters by an artist during the process of preparing a literary work. Also,
choice E, ‘animal’ was also incorrect because literary artists do not only
use animals as characters but they also use other things like objects and
people.

Item (v) of this question required candidates to identify a figure of speech
suitable for the words that are no longer used in everyday life. It reads as
follows

“Quoth”, “thee” and “thence” are some of the words, which are no longer
in use in everyday life. Which figure of speech is suitable for these words?
A Symbols B  Simile C Anaphora

D Archaism E  Metaphor

Alternative D, ‘archaism’ was the correct response because the term refers
to the use of old expressions or words which are almost dying or
disappearing from a language. Candidates who chose this alternative
noticed that the quoted words in the given item are not common in their
current everyday life because they were used in the past during the old
English era. The candidates who got it wrong were not familiar with the
given words as they chose the incorrect responses. Choice A, ‘symbols’ was
an incorrect choice because symbols are words or objects which writers use
to represent an idea or something else. Choice B, ‘simile’ was not a correct
response because a simile is a figure of speech that uses conjunctions to
compare two dissimilar things or objects for artistic purposes. Choice C,
‘anaphora’ was also not a correct choice because it is a sound device which
involves the repetition of the same word at the beginning of several or
consecutive verses in a stanza of a poem. Choice E, ‘metaphor’ was also
not a correct choice for this item because it refers to the direct comparison
of two dissimilar objects or things usually for emphasis. It involves calling
one thing something else which is related to it by traits.



Item (vi) of this question required the candidates to choose the correct
alternative that best describes a work of art. The question was:
Which of the following describes a work of art?

Event that is described as imaginary
Event that is based mainly on fact
Event that involves normal character
Event that does not involve setting
Event that involves real presentation

moow>

Alternative A, ‘Event that is described as imaginary’ Was a correct choice
answer for this item. Candidates who chose it showed an understanding of
the meaning of a work of art and some distinguishing features of literary
materials from other works. Choice B, ‘event that is based mainly on fact’
was not a correct choice because works of art do not only deal with factual
events but also imaginary; based on the author’s creativity. Choice C,
‘event that involves normal characters’ was also incorrect because literary
works involve the use of imaginary characters who are shaped, developed
and given life by an artist to suit his/her ideas. Choice D, ‘event that does
not involve setting’” was incorrect because works of art notwithstanding the
fact that they are based on imagination and creativity, they must have the
setting, which is the place and period when the event in the work of art
occurred. Choice E, ‘event that involves real presentation’ was also not
correct because works of art involve not only real presentations but also
imaginary presentations. They tend to imitate what goes on in the real
society for many reasons such as educating, entertaining, criticising,
liberating or warning. The candidates who opted for the incorrect choices
did not know how to describe a work of art.

Item (vii) of this question required candidates to name a poetic device in
which consonant sounds are repeated. The question was:

How is the poetic device in which consonant sounds are repeated called?

A Alliteration B Refrain C Assonance

D Hyperbole E  Rhymes

The correct response was A, ‘Alliteration.” Candidates who chose this
alternative demonstrated that they had enough knowledge of poetic devices
and concepts. They also had good knowledge of poetic diction which
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helped them to differentiate ‘alliteration’ from ‘assonance.” Choice B,
‘refrain’ was not a correct answer for the item because it is a repetition of
an expression at the end of two or more successive stanzas in a poem.
Choice C, ‘assonance’ was not a correct choice because it refers to the
repetition of an identical vowel sound in different lexical items within a
verse. Choice D, ‘hyperbole’ was also not a correct choice because
hyperbole is a literary technique which involves the use of words to
exaggerate the reality or truth of something for emphatic purposes. Choice
E, ‘rhymes’ was not a correct choice because rhymes involve the repetition
of similar sounds at the end of consecutive verses or at a particular interval
in a stanza. This repetition must necessarily not be of consonant sounds
alone but also vowels. The choice of these incorrect responses by the
candidates implies that they did not understand the concept of alliteration.

Item (viii) of this question required candidates to identify an expression
which exemplifies a simile among those given. The question was:

Which of the following is a good example of a simile?

He has become an earth worm

The Indian hair is like sisal strains

Majuto is a chameleon

Mkude was a lion in the battle

Mwajuma is a Giraffe

mooO o>

Choice B, ‘the Indian hair is like sisal strains’ was the correct response for
this item. Candidates who chose this alternative demonstrated to have good
knowledge on various figures of speech used in literature. They could
realize that a simile involves the comparison of two dissimilar objects or
things by using conjunctions like as....as...or like... The Indian hair is
compared with sisal strains by using the conjunction word ‘/ike.” Choice A,
‘he has become an earth worm’ was not a correct choice because it
represents a metaphor in the sense that a human being is addressed directly
as an earthworm. Choice C, ‘Majuto is a chameleon’ was not correct
because it describes a metaphor which basically involves the direct
comparison of two dissimilar objects or things without conjunctions.
Majuto is compared with a chameleon without using a joining word.
Choice D, ‘Mkude was a lion in the battle’ was not a correct choice because
it is also a description of a metaphor due to the absence of a conjunction in
making the comparison between ‘Mkude’ and ‘the lion’. Choice E,
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‘Mwajuma is a giraffe’ was an incorrect response for this item because it is
the description of the same literary concept, a metaphor, in which
Mwajuma is named a giraffe directly. The candidates who got wrong in this
item failed to differentiate examples of simile from other figures of speech.

Item (ix) of this question required candidates to name an autobiography that
usually focuses on a significant event or period in the writer’s life.

What is the name of an autobiography that usually focuses on a significant
event or period in the writer’s history? The question was:

A Biography B  Reference C Autobiography

D Memoir E Bibliography

The correct choice for this item was D, ‘memoir.” Candidates who chose
this alternative had the required competence and ability to classify literary
materials. Those who got this item right were able to discover that a
memoir is the type of an autobiography written by a person for the intention
of remembering his/her important event in life. There were candidates who
got wrong in this question. These candidates did not realize that choice A,
‘biography’ was not a correct choice because it is an account of someone’s
life history written by another person. Choice B, ‘reference’ was not a
correct choice because it is not related to events of people or history of a
life of the person since it is the use of a source of information in order to
ascertain something. Choice C, ‘autobiography’ was not a correct choice
because it is an account of someone’s life records or history written by an
individual himself or herself. It comprises many events a person has
experienced from the moment he/she was born up to date. Choice E,
‘bibliography’ was not also a correct choice for the item because it does not
refer to the description of people’s events and records. Rather, it is a list of
readings the author of a certain book has made reference to in the
preparation of his or her written work.

Item (x) of this question required the candidates to identify the type of a
poem that addresses a person or celebrates an event such as a wedding. The
question was:

Which type of a poem addresses a person or celebrates an event such as a

wedding?
A Ode B Epic C Didactic
D Lyric E  Sonnet
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Choice A, ‘Ode’ was a correct choice for this item. Candidates who chose it
showed enough competence in the categorization of the genres of poetry.
They discovered that an ode is a poem composed to celebrate an important
event. The choice of option B, C, D and E by the students were wrong as
they did not match with the given description in the demand of the
question. Choice B, ‘epic’ was not a correct choice because it is category of
poetry which celebrates heroic deeds. Choice C, ‘didactic’ was not a
correct choice because it is a kind of a poem which gives instructions to
readers. Choice D, ‘Iyric’ was also not a correct choice because it is a poem
sung to express an individual’s strong or deep feelings. Choice E, ‘sonnet’
was not a correct choice because it is a poem structure which has first eight
verses for the first stanza and the second stanza with six verses making a
total of fourteen lines.

Generally, the candidates who scored high marks in this question proved
that they had developed the required competences in analysing different
literary concepts and theories, and also they thought critically and made
sound judgments on literary assumptions and propositions. Hence, they
managed to choose the correct alternatives from the list of distractors in the
item of this question. Their scores ranged from 7 to 10 out of 10 marks.
Extract 1.1 below is a sample of responses from a candidate who scored
high marks in question number 1.
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Extract 1.1 A sample of a good responses to question 1

It is worth noting that there were other candidates who had average scores.
Such candidates demonstrated average competences on some basic literary
concepts and theories. Their scores ranged from 4 to 6 marks out of 10
marks. They managed to choose some correct alternatives from the
distractors and failed to choose the few correct alternatives in the first
question. An illustration is made in Extract 1.2 from one of these
candidates:
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Extract 1.2 A sample of a response from a candldate with average
performance on question 1

e ———————

On the other hand, there were candidates who showed poor competence in
some items tested in this question. Such candidates failed to choose the
correct alternatives from distractors for many items leading to their poor
performance in this question. It is observed in this analysis that the
candidates’ failure in this question was caused by lack of skills in
remembering, applying, analysing and evaluating literary terms and
concepts. Their scores ranged from 0 to 3 marks out of 10 marks. Extract
1.3 below shows a sample of a candidate’s response with poor
performance.
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Extract 1.3 A Sample of Incorrect Responses to Question 1

Question 2: Matching items

The candidates were required to match the descriptions in List A with their
corresponding figures of speech in List B, by writing the letter of a correct
response beside the item numbers in the answer booklets provided. The
question read as follows:

Match the descriptions in List A with the corresponding figures of speech in

List B by writing the letter of the correct response beside the item number
in the answer booklets provided.
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truth is directly opposite of the reality.

List A List B
(i) A figure of speech which compares two A Proverb
different things by using conjunctions.
B Metaphor
(ii) A figure of speech which compares two
different things without conjunctions. C Simile
(iii) A figure of speech in which foolish D lrony
ideas of a person are shown to improve
his/her humanity. E Hyperbole
(iv) A figure of speech which exaggerates F Satire
fact for comic or serious effects.
G Metonymy
(v) A situation in which the expression of
H Personification

The question was attempted by 109,471 candidates, which was equal to 100
per cent of the candidates. Out of whom, 28.62 per cent of the candidates
scored 2 to 3 marks and their performance was average. Moreover 11.43
per cent of the candidates performed weak because they scored 0 to 1,
while 59.95 per cent of the candidates scored 4 to 5 marks which was good
performance. The general performance on the question was good because
88.57 per cent of the candidates scored 2 to 5 marks. Figure 2 presents the

detailed performance of the candidate in question number 2.
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Figure 2: The Performance of the Candidates on Question 2

The analysis shows that candidates who managed to match the descriptions
with their correct responses had enough knowledge of different figures of
speech as used by literary writers in the readings. Item (i), ‘A figure of
speech which compares two different things by using conjunctions’ was
matched with response C, ‘Simile’ because a simile shows comparison
between two things by using conjunctions. Item (ii), ‘A figure of speech
which compares two different things without conjunctions’ was matched
with response B, ‘metaphor’ because it is a metaphor that shows the
comparison between two things without using conjunctions. ltem (iii),
figure of speech in which foolish ideas of a person are shown to improve
his/her humanity’ was matched with response F, ‘satire’ because satire uses
humour and wit to improve people’s behaviour. Item (iv), in ‘A figure of
speech which exaggerates facts for comic or serious effects’ was matched
with response E, ‘hyperbole’ because truly, hyperbole intensifies the reality
for emphasis on an idea or thing. Item (v), ‘A situation in which the
expression of truth is directly opposite from the reality’ was matched with
response D, ‘irony’ because in irony, what is said is actually the opposite of
what is meant.
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Generally, candidates who scored high marks on this question had
competence on the conceptualization and understanding on different figures
of speech used in literature. They were also able to differentiate the
meaning of one figure of speech from the other. The candidate scores
ranged from 4 to 5 marks out of 5 marks. Extract 2.1 below shows the
sample of a response from the candidates who got good performance on
this question.
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Extract 2.1 A Sample of Correct Responses to Question 2

There were also candidates who scored average marks. They showed partial
mastery of the knowledge in figures of speech in literature which enabled
them to match a few pairs correctly and others wrongly. Their scores
ranged from 2 to 3 marks out of 5 marks. For example one of the
candidates matched item (iv) A figure of speech which exaggerates fact for
comic or serious effects with F Satire instead of E Hyperbole and item (v)
A situation in which the expression of truth is directly opposite of the
reality with F Satire instead of D Irony. The extract below shows a sample
of a response from candidates who got average performance on this
question.

Extract 2.2 A Sample of a Response from a Candidate with Average

Performance on Question 2

Furthermore, the candidates who scored low marks in this question
demonstrated poor competence and mastery on the knowledge of figures of
speech. They failed to correctly match the given description in List A with

14
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their respective meanings in List B to produce a complete and meaningful
expression. For insistence some of the candidates matched item (i) with F
instead of C, item (ii) matched with E instead of B and item (v) matched
with H instead of D their scores ranged from 0 to 1 and it was categorised
as poor performance. Extract 2.3 below is a sample of incorrect responses
to this question.

9
0)
(i

d

—
-

2l mC\*rb

<

N

Extract 2.3 A Sample of Incorrect Responses to Question 2

SECTION B: SHORT ANSWER QUESTIONS

This section consisted of 4 compulsory questions. These were questions 3,
4, 5 and 6 respectively. Each question carried the weight of 10 marks,
making a total of 40 marks for this section.

Question 3: Short answer

This question aimed at assessing the ability of students to remember and
name correctly the figures of speech represented by literary
terms/expressions given. The question was:

Which literary term is represented by each of the following expressions?

(@) I thought the world was mad.

(b) Soon my voice will be the sand between two grinding stones.

(c) A cloudy sky does not always cry rain.

(d) Did you have any lunch friend?

(e) One of the poets wrote that, “black is beautiful.”

The question was attempted by 109,471 candidates which was equal to 100
per cent of all candidates. Out of whom, 2.83 per cent of the candidates
scored 7 to 10 which was good performance. Moreover 45.51 per cent of
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the candidates scored 3 to 6 marks which was average performance, 51.67
per cent of the candidates scored 0 to 2 marks and their performance was
poor. The general performance on this question was Average because 48.34
per cent of the candidates scored 3 to 10 marks. Figure 3 present the
detailed performance of the candidate for question number 3.

Scores

m0.0-2.5
03.0-6.0
m6.5-10.0

Figure 3: The Performance of the Candidates on Question 3

In item (@), ¢/ thought the world was mad’ prompted candidates to name a
figure of speech described by the expression. The correct figure of speech
for this item was, ‘personification’ because it involves assigning human
attributes to non-human entities. Candidates who got this item correctly
understood the meaning of personification and finally discovered that the
‘world’ in a given expression is assumed to have the ability to think as if it
is a human being.

In item (b), the expression ‘Soon my voice will be the sand between two
grinding stones’ the correct figure of speech for this item was either,
‘metaphor’ or ‘imagery’ because, firstly, this expression shows a direct
comparison between the ‘voice’ and the ‘sand’ for there is no use of a
conjunction in the marked comparison. This makes it a metaphor because it
is the metaphors in literature that compare two different things without
using joining words. Secondly, this expression evokes an auditory sense in
the mind of the listener through the use of words, ‘voice’ and ‘grinding
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stones’ which makes it to be ‘imagery’ because imagery refers to the use of
words/expressions which appeal to human senses leading to the creation of
a mental picture or feeling of what is said or read. Candidates who got this
item right understood well the terms, ‘metaphor’ and ‘imagery’ based on
their operations and functions in literature.

In item (c), ‘A cloudy sky does not always cry rain’ candidates were
required to, name a figure of speech represented by this given description.
The correct response for this item was either, ‘saying’ or ‘proverb’ because,
both ‘saying and proverb’ are short polite expressions whose meanings are
usually not related with the individual words which make them and they are
intended to convey wisdom/moral to the audience as well as improving
their thinking. Candidates who got this item correct had good
understanding of the meanings of a variety of sayings and how to interpret
them.

In item (d), ‘Did you have any lunch friend?’ candidates were supposed to
identify the appropriate figure of speech represented by the given
expression too. The correct figure of speech for this item was, a ‘rhetorical
question’ due to the reason that such questions do not require immediate
response because their responses/answers are usually obvious. They are
asked for only emphatic reasons in works of art. Candidates who got this
item right were able to demonstrate the required competence about
rhetorical questions as they were able to find out that the expression given
never demanded a reply but to challenge the listener to reflect on what the
speaker says.

In item (e), ‘One of the poets wrote that, ‘black is beautiful’ candidates
were supposed to identify the appropriate figure of speech represented by
this expression. The correct answer for this item was either, ‘alliteration’ or
‘hyperbole’ because firstly, in this expression, each word in it begins with
an identical consonant sound, /b/ which makes the whole phrase to be
alliteration. Secondly, this expression also qualifies to be a hyperbole
because it is charged with some elements of exaggeration to make ‘black’
referring to colour look/appear more important/better than other colours.
Candidates who got this item right were able to demonstrate enough
knowledge on the interpretation of literary devices. Those who wrote
‘alliteration” were able to identify the repetition of sound /b/ at the
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beginning of the words ‘black’ and ‘beautiful’ while those who wrote,
‘hyperbole’ were able to discover the intention of the speaker to
qualify/advocate for the black skin colour.

Generally, candidates who had good performance on this question managed
to apply their knowledge of various literary devices and how they can be
employed in speech and writing. Their scores ranged from 7 to 10 marks
out 10 marks. Hence, they had performance. A sample of the correct
responses is presented in Extract 3.1 below.
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Extract 3.1 A Sample of Correct Responses to Question 3

There were also candidates who got average performance because they
demonstrated partial understanding of the given literary concepts. Their
scores ranged from 4 to 6 marks out of 10 marks, which was an average
performance. A sample of a response from a candidate with average
performance is shown in Extract 3.2 below.
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Extract 3.2 A Sample Of a Response from a Candidate with Average
Performance on Question 3

On the other hand, the candidates who performed poorly, failed to
identify/name the correct or appropriate figures of speech/literary devices
that were provided in the description because they lacked the expected
competences in the items which were tested. Their scored ranged from 0 to
3 marks out of 10 marks. A sample of a response from the candidate with
poor grade is shown on Extract 3.3 below.
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Extract 3.3 A Sample of Incorrect Responses to Question 3

2.2.2 Question 4 Short answer
The question aimed at testing candidates’ ability to read and comprehend a
given poem by responding to the questions that followed it. The question
was:
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Read the following poem and answer the questions that follow:

Pedestrian to Passing Benz-man — By Albert Ojuka (Kenya)
You man, lifted gently

Out of poverty and suffering

We so recently shared, | say-

Why splash the muddy puddle on to

My bare legs, as if, still unsatisfied

With your seated opulence

You must sully the unwashed

With your diesel-smoke and mud-water
and force him buy, beyond his means

a bar of soap from your shop?

a few years back we shared a master
today you have none, while I have
exchanged a parasite for something worse
But may be a few years is too long a time
Questions

(@) How does the pedestrian differ from the passing Benz-man today?

(b) How does the passing Benz-man drive his car?

(c) Is the pedestrian happy with the changes? Give a reason for your

answer/
(d) What does the word “parasite ” in the poem mean?
(e) How does the passing Benz-man exploit the pedestrian?

This question was attempted by 109,471 candidates which was equal to 100
per cent of the candidates. Out of whom, 8.54 per cent of the candidates
scored 7 to 10 marks and their performance was good Moreover, 26.51 per
cent of the candidates scored 3 to 6 marks which was average performance,
64.95 per cent of the candidates scored 0 to 2 marks which was weak
performance. The general performance on the question was average
because 35.05 per cent of the candidates scored 3 to 10 marks as illustrated

in Figure 4.
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Figure 4: The Performance of the Candidates on Question Number 3

Item (a) required candidates to differentiate between the pedestrian and the
passing Benz-man in the current world (today). The correct response for
this item was either, The pedestrian has a master while the passing Benz-
man does not have any master’ or ‘the pedestrian suffers while the Benz-
man has a comfortable life.” This is evidenced from the given poem when
the persona says:

“a few years back we shared a master

today you have none, while I have

exchanged a parasite for something worse”

In item (b), the candidates were required to describe the Benz-man’s
driving manner. The correct response for this item was, ‘The passing Benz-
man drives carelessly and splashes the muddy puddle on the pedestrian’s
legs.” The verses below justify this:

“Why splash the muddy puddle on to

My bare legs, as if, still unsatisfied

With your seated opulence”

It is the careless driving manner which makes the persona complains in the
poem.
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Item (c) required candidates to state whether the pedestrian is happy or not
and thereafter give a reason for their answer. The correct response to this
item was, ‘The pedestrian is not happy because he has exchanged a
parasite for something worse which means the pain the pedestrian suffered
have become more than even before he changed the master.’

Item (d) demanded candidates to give the meaning for the word ‘parasite’
as used in the poem. The correct response was, ‘The word parasite means,
a person whose life depends on the sweat of others.’ This is proved when
the persona says,

“today you have none, while I have

exchanged a parasite for something worse

But may be a few years is too long a time”

It is obvious that, the parasitic nature of the Benz-man who represents the
upper class has impoverished the persona.

In item (e), the candidates were supposed to explain how the passing Benz-
man exploits the pedestrian. The correct response for this item was that
‘The passing Benz-man forces the pedestrian to buy a bar of soap from his
shop.’

Generally, the candidates who had good performance proved that they had
the ability to read and comprehend poems by responding correctly to the
questions given after. They also demonstrated ability to comprehend the
English language. They scored from 7 to 10 marks out of 10 marks. This
was categorized as good performance as shown in the sample extract
below.
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Extract 4.1 A Sample of Correct Responses to Question 4

In this question, there were candidates who scored average marks. Their
scores ranged from 4 to 6 marks out of 10 marks which was categorised as
average performance.

These candidates demonstrated partial ability of reading and
comprehending poems. They adhered to some guidelines and principles of
interpreting a poem which enabled them to respond correctly to some items
of the question but they failed to provide the correct answers for a few
items of this question. Extract 4.2 below shows a response of a candidate
who tried to provide correct responses but he/she failed to substantiate them
by giving evidence from the given poem.
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Extract 4.2 A Sample of Responses from a Candidate with Average
Performance on Question 4

On the other hand, there were candidates who scored low marks on this
question. They scored 0 to 2 marks out of 10, which was categorised as
poor performance. These candidates did not manage to read and
comprehend the given poem. So, they failed to provide correct answers to
the questions. In (a) one of these candidates wrote that the pedestrian is
anyone who is ready for anything in the world instead of the pedestrian is a
low class man who is suffering humiliation and oppression from his master.
In (b) the student wrote the driver drived his car with full of pleasure
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instead of the driver drives the car very rough that he doesn’t care the
pedestrian and other low class people hence he poured mad on them. In
extract 4.3, the sample response indicates that the candidate failed to
provide correct answers to the given items because he/she was not
knowledgeable on the procedures of analysing a poem.
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Extract 4.3 A Sample of Incorrect Responses to Question 4

2.2.3 Question 5 Short Answer

This question aimed at measuring candidates’ ability to apply their

knowledge of literature by providing correct explanations for each of the

given items (a) - (e). The question was:

Briefly write the correct answer for each of the items (a) - (e) in the answer

booklet provided.

(@ Imagine you are a literary artist; how would you create
misunderstanding between characters in your work of art?

(b) Suppose you were writing a novel, how would you use flashback as a
writing technique?

(c) Imagine you are reading a poem; how would you know that
onomatopoeia has been used by the poet?

(d) How can you create an irony as a literary device?

() Why does a poet use allusion?
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This question was attempted by 109,471candidates which was equal to 100
per cent of the candidates. Out of whom, 7.20 per cent of the candidates
scored 6 to 10 marks and their performance was good. Moreover, 24.24 per
cent of the candidates scored 3 to 6 marks and their performance was
average, 68.56 per cent of the candidates scored 0 to 2 marks and their
performance was weak. The general performance on the question was
average because 31.44 per cent of the candidates scored 3 to 10 marks. The
performance of the candidates on this question is illustrated in Figure 5.
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Figure 5 The Performance of the Candidates on Question 5

Item (a) required candidates to explain how an artist can create
misunderstandings between characters in a literary work. The correct
response to this item was as follows. ‘Misunderstandings are created in the
work of art through presenting opposing ideas or characters and each
defending his/her position rather than accepting to each other.” Candidates
who approached this item correctly were deemed knowledgeable enough to
recognize that misunderstandings occur when two parts each with own
interests oppose each other, and that, misunderstandings involve characters
in literature.

Item (b) required the candidates to show how one would use flashback as a
writing technique. The correct answer for this item was, ‘To show that
flashback is used in plotting events by allowing a character to refer to the
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past events or actions to establish the connection between the present and
the past as a way of comprehending the characters’ motives and the
reasons on why events and actions happen as they do. This increases the
plot’s credibility.” Candidates who approached this item correctly had
enough knowledge on the stages for plot development in a work of art and
the styles through which a literary material can be presented to the
audience. They provided substantial explanations on the concept and how it
is achieved by writers in literature.

In item (c), the candidates were required to make an imagination of reading
a poem and show how onomatopoeia is used by the poet. The correct
response to this item was ‘Onomatopoeia is detected when the poet uses
words to imitate sounds of objects.” To get this item right, candidates were
supposed to have an understanding of poetic sound devices and how they
operate. Candidates who got it right were able to ascertain that
onomatopoeia involves the imitation of sounds of objects for clarity and
emphatic reasons. They also managed to provide thorough elaborations
accompanied with examples on the device.

Item (d) of this question, tested candidates abilities to create irony as a
literary device. The expected response to this item was as follows, ‘lrony
can be created by identifying an idea or concept and stating it in such a
way that what is said is not what it is. There is discrepancy between a
statement and reality.’

Item (e) meant to examine candidates’ ability to explain why poets use
allusion. The correct response to this item was as follows, ‘The poet may
opt to use allusion as a poetic device through which reference to the
assumed well-known event/person or idea is made so as to make the
current idea clearly understood.’

Generally, the candidates who demonstrated good performance on this
question had the knowledge of literature and ability to apply it by providing
correct explanations for each of the given items in the question. Such
candidates were able to express their knowledge of concepts in well-
organized comprehensible English. Their scores ranged from 7 to 10 marks
out of 10 marks. The analysis reveals that the candidate, understood the
question well and they were able to have a good flow of ideas in their
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explanations. The candidates responded to each item explicitly, citing
examples to justify their explanations. Extract 5.1 is an example of the

candidate with a correct response.
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There were also candidates who got average scores in this question. They
demonstrated fractional aptitude to grasp and explain a variety of literary

Extract 5.1 A Sample of Correct Responses to Question 5

concepts and theories. They did not manage to provide the correct and

anticipated responses to some given items, for example, one of the student

in item

art instead of explain how misunderstanding can be created which is by

(a) wrote that misunderstanding can be created in creating a work of

imposing an opposite idea and event. Moreover, in item (v) the candidate
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wrote the poet use allusion to create fear to the readers instead of allusion
in the poem is used to refer to legend, religious matters for attraction. Their
scores ranged from 4 to 6 out of 10 marks. In Extract 5.2, the candidate
tried to explain four items out of five (5) which were tested but she failed to
provide some examples to justify his/her explanations on the items
answered.
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Extract 5.2 A Sample of Responses from a Candidate with Average
Performance on Question 5

Nevertheless, there are candidates who scored low marks in this question.
Their scores ranged between 0 and 2 marks out of 10 marks. Such
performance was categorised as poor. The items’ response analysis shows
that, the low marks scored by such candidates were caused by their failure
to apply the knowledge of literature in explaining, defending and
exemplifying the tested literary items from this question. For example, the
sample response shown in Extract 5.3 indicates the candidate who did not
understand the question and he/she made a list of literary terms which were
not related to the question.
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Extract 5.3: A Sample of Incorrect Responses to Question 5

2.2.4 Question 6: Short answer

This question was set to assess candidates’ competence and ability to

remember, evaluate and apply the knowledge obtained from the concepts of

oral literature in relation to the current fast growing technology.

Briefly write the correct answer for each of the following items (a) — (e)

(@) Why is oral literature said to be the oldest compared to written
literature?

(b) What is the most important function of oral African literature?

(c) Write two differences between oral literature and written literature.

(d) What is the effect of science and technology on oral literature?

(e) How has science and technology improved oral literature?

This question was attempted by 109,471 candidates which was equal to 100
per cent of the candidates. Whereby, 12.25 per cent of the candidates
scored 7 to 10 marks and their performance was good. Moreover, 47.56 per
cent of the candidates scored 3 to 6 and their performance was average,
40.19 per cent of the candidates scored O to 2 marks and their performance
was weak. The general performance on the question was average because
59.81 per cent of all the candidates scored 3 to 10 marks. The performance
of the candidates on this question is illustrated in Figure 6.
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Figure 6: The Performance of the Candidates on Question 6

Item (a) required candidates to explain why oral literature is said to be the
oldest compared to written literature. The correct response to this item was,
‘Because oral literature started before the invention of writings.’
Candidates who scored all marks in this item managed to trace the origin of
both, oral and written literature.

Item (b) required candidates to state the most important function of oral
African literature. The correct response which was required to this item
was, ‘To preserve the African values/African culture.” Candidates who
scored this item correctly had an awareness of the examples and roles of
oral narrations in the society. They mentioned genres such as folk tales,
riddles, myths, legends and others of the like as effective tales which help
to pass African values from one generation to the next.

In item (c), the candidates were asked to list two differences between oral
literature and written literature. The two correct response were as follows,
(i) Oral literature is the oldest compared to written literature.
(i) Oral literature is presented orally while written literature is
presented in written form.
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Candidates who had correct responses in these items tried well to back their
points with brief explanations together with examples to prove their views.
However, candidates who responded by giving any other differences apart
from these, were considered and they scored well.

In item (d), candidates were asked to provide the effect of science and
technology on oral literature. The correct response to this item was, ‘Oral
literature is no longer recited from memory but may be recorded by
modern instruments.” However, any other relevant effects of science and
technology on oral literature were accepted.

Item (e) of this question required candidates to briefly explain how science
and technology has improved oral literature. The correct response was,
‘Science and technology has eased the accessibility to oral literature
materials by people through modern instruments and devices such as
DVDs, CDs, audio recordings and flash disks.’

Generally, candidates who had good performance on this question managed
to apply their knowledge of oral literature and its genres by providing clear
explanations for the given items with concrete examples. Their scores
ranged from 7 to 10 out of 10 marks. An extract that follows illustrates a
candidate who wrote a good response to this question by giving the
required explanations to the given description by providing correct
examples. The candidate managed to show a good command of English
through his/her responses and had enough knowledge and understanding on
oral literature concepts.
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Extract 6.1 A sample of Correct Responses to Question 6
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Subsequently, there were candidates who got average scores in this
question. They managed to provide correct explanations on a few items but
did not manage to explain and exemplify the rest of the items appropriately.
Their scores ranged from 4 to 6 marks out of 10 marks. This performance
was categorised as average. In Extract 6.2, a sample of a response for the
candidate who responded to some items by briefly writing the correct
answers for the items given in the question but he/she did not cite enough
examples in the items’ responses given.
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Extract 6.2 A Sample of Responses from a Candidate with Average

Performance on Question 6
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On the other hand, the candidate who performed poorly in this question
failed to provide correct explanations to the given items. Their scores
ranged from 0 to 2 out of 10 marks which was categorised as poor
performance. Some of the candidates who attempted this question ended up
rewriting questions with short irrelevant answers without providing
explanations as it was required in the question. The analysis reveals that the
candidates lacked enough understanding on the terms and due to lack of
good English comprehension they failed to provide the required response to
the guestion. Extract 6.3 below shows a sample response of candidates who
failed to provide correct explanations to the literary descriptions which
were tested.
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2.3

SECTION C: ESSAY TYPE QUESTIONS

This section comprised of four (4) essay type questions. Questions number
7, 8, 9 and 10. Each question carried 15 marks, making the total of 45
marks for the section. The candidates were obliged to attempt only three (3)
questions from this section of which, questions 7 and 8 were compulsory.
The questions attempted under this section were supposed to be supported
by making reference to the recommended readings.

LIST OF READINGS

PLAYS

The Lion and the Jewel - Soyinka, W.
The Trials of Brother Jero -Soyinka, W.
The Dilemma of the Ghost - Aidoo, A A.
The Government Inspector -Gogol, N.
NOVELS

A Walk in the Night and Other Stories - Guma, A.
Houseboy - Oyono, F.
The Old Man and the Medal - Oyono, F.
The Concubine -Amadi, E.
POETRY

Selected Poems — Tanzania Institute of Education
Growing Up with Poetry — Rubadiri, D.

2.3.1 Question 7: Plays

Question number 7 was on plays. It required the candidates to illustrate
how playwrights use language devices to reveal different themes in plays.
Specifically, the question reads:

Show how two playwrights have used language devices to reveal different
themes in their respective societies.

This question was attempted by 109,471 candidates, which was equivalent
to 100 per cent of the candidates. Out of whom, 12.40 per cent of the
candidates scored 9.5 to 15 marks and their performance was good.
Moreover, 45.12 per cent of the candidates scored 4.5 to 9.5 marks and
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their performance was average, 42.48 per cent of the candidates scored 0 to
4 marks and their performance was weak. The general performance on the
question was average because 57.52 per cent of the candidates scored 4 to
15 marks. The performance of the candidates on this question is illustrated
in Figure 7.
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. .

0.0-4.0 45-95 10.0 -15.0
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Figure 7: The performance of the Candidates on Question 7

The analysis of the candidates’ responses indicates that candidates with
good performance understood the question and demonstrated a good
understanding of the plays they used as references. As a result, the
candidates in this category managed to discuss how the playwrights of the
plays they referred to have used language devices to reveal different themes
in their societies.

In “The Lion and the Jewel” by Wole Soyinka, the candidates were capable
of showing how metaphors were employed by the writer to reveal the
themes. The candidates wrote that, the playwright has used metaphors
which are expressions that show direct comparison between two different
things without the words such as ‘like” and ‘as’. In this play, the playwright
has used a metaphor through Baroka who points to Sadiku for not being
faithful in keeping the secret of him losing his manhood. Baroka says, “The
sharpest tongue grows from that one, Sadiku my faithful lizard.” Sadiku is
compared directly with a faithful lizard to show how truthful she had been
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from the beginning until when she comes to expose her husband’s manhood
loss secret. This metaphor conveys the theme of betrayal as Baroka learns
that it is Sadiku who has disclosed to Sidi the secret that he had confided to
her. In the play, Baroka tells Sadiku that he had told it to no one but Sadiku
his eldest and faithful wife. Sadiku’s revealing of this secret makes Baroka
to be disappointed because he had never seen her exposing his secrets
before. Having betrayed him, he refers Sadiku’s words as the sharpest
tongue. For that reason, a metaphor has been used to illustrate how things
are.

Moreover, the candidates explained well hyperbole as it is the language
device which literary writers employ when intending to exaggerate facts. It
is used to make something or someone look more serious or important than
the reality. In the play, hyperbole is employed through Lakunle who tries to
express his feelings to Sidi. He says, “Sidi, my heart burst into flowers with
my love.” Here the candidates exaggerate love feeling and likened with
bursting flowers, so as to convey the theme of love.

Another device that the candidates elaborated is personification. They
correctly define it first by writing as the act of giving human qualities to
non- human beings or objects and they give an example of Lakunle who is
quoted speaking to himself when he learns of Sidi’s loss of virginity to
Baroka, “ooh heavens strike me dead”. Here the heaven is given the power
to strike. This conveys the theme of disappointment as what has happened
is beyond control.

Candidates also define euphemism which is the device where words are
used to replace words that are considered unpleasant to people or offensive
with the more acceptable ones. They show that in the play, euphemism is
employed by the playwright as follows, “Sadiku’s unopened treasure-
house demanded sacrifice and Okiki came with his rusted key.” The
unopened treasure - house is with reference to Sadiku’s virginity while
Okiki’s rusted key refers to Okiki’s old penis which fails to break Sadiku’s
virginity. Euphemism is used to convey the theme of oppression against
women by old men who fail to satisfy biological needs of their wives. It is a
harsh experience presented in a soft —pleasant way.
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The candidates who scored good marks, they also used the play ‘The
dilemma of a Ghost” by Ama Ata Aidoo. To show how literary devices
have been used to reveal themes in the play. They wrote symbolism is a
literary device which involves the use of an object or thing to stand for an
idea or something else. On the other hand, a symbol in literature is
something used to represent/stand for something else or an idea. It can be a
word, person or an object. Referring to the play, Ato is quoted telling his
wife Eulalie, “poor sweetie pie.” Sweetie pie is used to convey the theme
of love of Ato to Eulalie. A ghost which is in dilemma is Ato’s dream on
whether to go to Elmina or Cape Coast is also a symbol. The ghost is a
symbol of Ato’s dilemma whether to follow the wishes of his wife or to
follow the wishes of his people. This symbol conveys a theme of personal
conflict/indecision/dilemma.

Another device extracted from this play by the candidates with good
performance was allusion. They defined allusion as a device that involves
making reference to a famous person or event in society so as to stress an
idea. In the play, ‘Dilemma of a Ghost’ the author has made use of biblical
terms when Ato says the following to his wife; “My darling we are going to
create a paradise with or without children.” This device is used to convey
the theme of love where in love there is peace, joy and tranquility as is the
case withe paradise that is believed to be full of joy and happiness. The
playwright has alluded to this biblical concept to show emphasis on the
love that Ato has to Eulalie. He makes a promise to her that they would live
happily in their marriage even if they are not blessed with children.

The candidates were able to refer to apostrophe as the act of a character
addressing an invisible person. The first woman addresses Eulalie as if she
is with her, “Ooh! Strange girl, whom | do not know, | weep for you, I know
what is to start marriage with barrenness.” The candidates show
apostrophe is used to convey the theme of infertility.

Dramatic irony was also used by these candidates. They referred it as the
opposite at the level of expectation. Esikom finances Ato’s education
hoping for future support. However, he fails to support his mother. This
leads to Esikom’s disappointment.
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They also show the use of proverbs when Ato says to his wife; “When in
Rome do as Romans do.” In this proverb, Ato means that if a person wants
to live peacefully he/she has to cope with the people he/she is living with.
This proverb is used to reveal the theme of cultural adoption.

In “The Trials of Brother Jero’ by Wole Soyinka, the candidates identified
and explained dramatic irony as one of the device that reveals themes in
this book. They wrote that dramatic irony is the opposite of what was
expected. In the play the old prophet believes that Brother Jero is working
for him but he finds that, Brother Jero is working for himself. Upon the
realization of this, he becomes disappointed. This is used to convey the
theme of betrayal and disappointment. The device presents the reality of
how things are in relation to what was expected.

The candidates were able to write that sarcasm is a figure of speech that
involves the use of bitter or hurting words for the purpose of showing
disapproval of someone or a situation. In the use of sarcasm, what is said is
contrary to what is meant with the aim of making the addressee feel that
what he/she has done is inappropriate or wrong. In this play, sarcasm is
observed when a fish trader speaks to Amope who had accused her of the
fish that she was selling produced a bad smell. The fish trader says, “Maybe
it is you who haven’t had a bath for weeks.” This statement made by the
fish trader is a reply that intended to hurt Amope and make her stop her
quarrelsome and abusive nature. Sarcasm has been used to depict the theme
of conflict which occurs between the two women, the fish trader and
Amope. The writer also uses this expression to express the anger of the
fish trader to Amope.

Moreover they explained that symbol has been used to refer to something
that stands for something else for example a cross stands for Christianity,
red colour stands for bloodshed. In the play, Chume tells his wife Amope,
“My cross has been lifted off my shoulders by Prophet.” The cross is used
to symbolize problems. It conveys the theme of disappointment. Chume is
disappointed by his wife who nags at him every day.

The analysis reveals that there were candidates who scored high marks in
this question. They scored from 9.5 to 15 marks range out of 15 marks.
Hence, their performance was good. Candidates who scored high marks in
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this question understood it well and they showed a good response to it.
They introduced the question well considering the definition of key words
that appeared in the question and the introduction of reference readings that
supported their arguments in their essays. They discussed the language
devices by stating clearly the themes which were conveyed through the
devices. They managed to provide evident quotations from the plays which
were recommended. Such candidates also ended up their essays with
plausible conclusions which suited the tested competences in the question.
Extract 7.1 provides a sample of a correct response from a candidate who
scored high marks from this question.
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Extract 7.1 A Sample of Correct Responses to Question 7

On the other hand, there were candidates who scored average marks in this
question. Their scores ranged from 4.5 to 9.5 marks out of 15 marks. These
candidates demonstrated their partial understanding obtained from the
study of plays in explaining how important language devices are in the
delivery of themes in literary works by writers but did not demonstrate the
expected competences in their responses. Some candidates who attempted
this question discussed a few language devices but did not show clearly the
themes depicted through the devices. The analysis furthermore shows that
there are candidates who mentioned some language devices but could not
quote from the respective reference readings. The sample in Extract 7.2
shows candidate’s response who mixed other literary terms which were not
related with language devices such as ‘use of point of view’ and ‘the use of
food taboos.

47



\»M\U\uaqq QO.W'CO-S L Yool “\‘° f\'La sz’te.( H&'\:

y“\m\vey,( C—O"\'\mwt\ CAQTDT\ 4\&}\ X,q, een TWoO oy Move

Moo ope | pexton= Wil i o Yo Awe Q\ﬁ.r B

e Ymg WLJ« are TV&D\LEMMA of A (WeeT wridlen

\>.\ Am:. AL A;&uo cmg e \.AoN A‘\‘D THE _FGewel

'\,‘\V Mg \"0- e &\\U\A n Ules O+ \"““‘\““ﬂe L&\h 6o © on

& Hemré" ey O

\Slra §w‘ ~1<Hn <\\ﬂ£ ?\mV\ of The O\lemmg

of A QTHQS\ TL;\ (‘—o\\ Qxe "\\f \C‘N\uo.c\e wewce: M

WA VP A e ey

\\; 3 ULe oOf ‘R:Q\ A‘mLco.( ‘T\\‘c mM

G ) o oo Lol L B cocy o

ot \>04-¥J-*~\0-r Yeq ton I\\ our f\ew‘ \'-‘LU"Q w Seen A'o ’H\mu)

£M\£ UJ\\A\ axe ‘){\c_ &wg u-(kzg \:u' Afn'car\ feofle,

&? M\,ws \~a: Lq,,\ MQD ”\'c JLow A—fn'*(‘_xxn ’}u.w.-

asTle ol tdea

\\{ We of .-Squo\trm An ac; Of “iCrg

oAl & npered ol T ler b WIS

Eu\ w ULeg C.w\ar{Ht CL\'\Q Laq- % mﬁ}pjc_\;\r \rx\eslg

T s AN My B S

o k] e o ArariCe CUscoAY Vg™ Lok will, dle

fotel sy o lig g Buropens_geeple Lo b Lo \%Sk\e

l T‘\( W O% Pou\*\ of \:re.w ‘I\-\ our

\3\ ’}\~ '}(r.c% fcf\'\<\' C?f-‘ View < ‘_(‘eu\ U-\,Len AV‘\'D

\”\S é}\«m"\a do | Doose s Afrcan cuthure or Wleghe

n CA\’\"‘ITQ f“‘«& Y‘ému’r q‘“ '\’Le ?e%*- \r\'*ereer-(onaJ

C:)"‘&‘(JQX',&\! wlen ero (FS é}hmma Yo Marmy e,w‘rl.el

Eu\um i Or - On A{—d@m \A&bmqn. /5\\_( AR _(’ C(\UQ"YI

<\—\,\QN e PQ F\e -Speq\ﬁf\l Taner —\\\'-M\UF( Qu.e'*b LO-M
(= dncebng  with e gy op .

e Lenw AND e | SENE\,?\MW\\q\\*IT\W LEO

48




T Mooy Uppnge B Jo o Lepored

‘H-ema_r\ ™ ’\:tarr o Vﬁffpc}“’" 40&0&“)&

Per.(ov {-q(‘_oivfoh refers '\‘ c“*? \ &e\n‘e

R cvolve | grong] buvan cualigecatrone RS
i Cur ‘?\"‘4—3 a f \Dﬂ\ﬁ \,‘M ‘\oum Q—L %qr\o\z_‘,\
P R PR E R R .

e T G oo gl Lot

C_or\;.\cA' as dle (H\emg ““\n} OQCUVMA) LQ“hmn \_a\ﬁ.mlg

N& lQ)\ ga( o\Lq ﬂ\( ta Sur —CGC«'Q‘L‘YL(‘ “\’Lue msfepg

\na.vw.\ WuSungG \C‘""W\Qmﬁ_c M CBMMMFCAA‘WJV\ kel gve "}b

Q. Mm& ALY

i ‘\N\Lo\.x(m Vi(a.r ’\*J ’H«: e °+ WH*“‘I

b oepued ol Tocur gy We e Mo gloyunglle

X"\M §\e (P\ ““ Tye \\m\) AND THE dews\“ 'Y\»;&—

Mecns \\ Voo 1 e PC,M(,FW\ \u&e and |\q e

v< L4 ‘Q \\%Q Lo \\aJ U—‘QD ‘ f\‘o s(\\ww Men.l‘ iqfencrjz

i c\‘)f\cme Buen u; o Gur \com“rg tore are PIEET

s L,rrm«m&m\ \&\wwn o mﬁ Ser Pelouy Ces

TMr}t\q,n\ N{Qq "\’v ’\_L \a "qua gl S.n_m»(& '}u

ko e ol T W cullenmrniTn cunghy

:

\_A\Am\e f< Seen ‘\."= L—n—\&) Mogéﬂamq MMA\ o

() nCing and) \essiedns v uce JLOQ; 3(&““* Crescle Ww‘.\s!w‘

Or\‘-;"‘\fu \'P—quJAo qufcx“ f\h" ‘}k& Na:Qur Bven % wour

(‘OQ@ tee Yow people Q\'OCA“ITJH Llec el e filo

as ‘H{“\’\&m\( QLrAYMeQ L f\’\\e g_f w\f\ﬁ"&r m\en \.»\.(rf\CJ

\e&xﬁéﬂ“ L"ﬂuﬂ‘&qq wa iCe »

\
T\«emfom; (T\‘,,wq\., UL ey \Mt‘\mfle DQWQ:"

p\o.u‘u;ﬂﬂ\'(‘f Ue a\)\a ’\'v fCr‘\*rzw]\—lwoN ‘{\A,e ﬂ“‘:lé'f it -\-cﬂe

Eom'ﬂ\ge'\’aﬂ/\ ‘S\QO\QX"‘[ al (f:.)\/ "‘W\} COOPemf\‘\C‘V‘ & a SouwrG

6} Q ‘o‘amfd Pccr \emgg L \CL.:UL\D Le "TQCCS}VQ L Q.\

Unske and peace  Crecde {Mm\,\p ol 13, Deele pme&‘ |

Extract 7.2 A Sample of Responses from a Candidate with Average

Performance on Question 7

Furthermore, there were candidates who scored low marks in this question.
The range of their scores was 0 to 4 marks out of 15 marks. In the analysis,
this performance was categorised as poor. Candidates who attempted this
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question failed to respond to the question correctly. They failed to provide
correct language devices which playwrights use to deliver their intended
ideas to the readers for example some of these candidates explained themes
in different books instead of showing how those themes were revealed by
the literary devices.
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Extract 7.3: A Sample of Incorrect Responses to Question 7

\«

Question 8: Novels

In this question, candidates were required to choose two characters, one
from each novel and show how the problems of mistreatment which they
face in their society could be solved. In attempting this question, candidates
were required to make reference to any two recommended novels to
support their opinions/points.

The question was attempted by 109,471 candidates which was equivalent to
100 per cent of the candidates whereby 57.40 per cent scored 0 to 4 marks
which was a weak performance. Furthermore, 34.44 per cent of the
candidates got average performance by scoring 4.5 to 9.5 marks. However
there were 8.16 per cent of the candidates who scored 10 to 15 marks which
was good performance. The general performance of this question was
average because 42.60 per cent scored 4.5 to 15 marks. The performance of
the candidates on this question is illustrated in Figure 8.
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Figure 8: The Performance of the Candidates on Question Number 8

The analysis reveals that, there were candidates on the other hand who
scored high marks in this question. Their scores ranged from 10 and 15.
Their performance was categorised as good. These candidates managed to
comprehend and respond correctly to the question. They showed the
mistreatments which some people face in society and suggested the
possible solutions to them.

These candidates defined the words ‘character’ and ‘mistreatment.’
Thereafter, introduced two readings (novels) they used in making reference
in attempting the question. They defined, the term ‘character’ as a person or
animal used by a writer to communicate his/her message to the audience
and the term ‘mistreatment’ as the unfairness done to someone or treating a
person in a cruel/unfair way.

In the main body, the candidates used the recommended novels to
demonstrate how two characters from different novels are mistreated and
thereafter suggested ways on how those mistreatments would be resolved in
case they happen in his/her society.

In the novel ‘The Old Man and the Medal’ written by Ferdinand Oyono, the
candidates depicted racial discrimination as one of mistreatments that faced
the characters. They demonstrated through Meka who is oppressed and
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humiliated by the whites. In this novel, racial discrimination is shown
through the arrest and torture which he experiences from the whites when
he is caught walking at night without an identity card. Meka being one of
many Africans who were forced by the whites to carry IDs all the time is
badly beaten by two constables who then lock him up in a prison cell. It is
evident in this novel that, Meka is segregated and tortured simply because
he is an African. Like Meka, many Africans were segregated by their
colonisers based on the skin colour. Additionally, the European and African
quarters were located in distant places to avoid the interaction between
them. To avoid mistreatments such as these from happening in the
contemporary societies, one may suggest that laws and policies be
formulated to resolve it. In that way equality and fairness will be
maintained in society.

The candidates explained that segregation is shown when Meka, the central
focus of the award, is given a medal which is not the same as the medal
given to the chief of the whites. He is segregated because of being black.
Therefore, he does not deserve the same treatment as the whites. This is a
serious mistreatment to Meka. To resolve such kind of mistreatment to low
class members, it would be better to avoid trusting other people in
unjustified relationships.

Moreover the candidates showed that exploitation is manifested through
Meka who is forced to work with white men in religious related issues
without any payment. He even gives his two sons and land. This is unfair to
Meka and he becomes very disappointed and feels mistreated when his life
standard has not improved. To resolve this, Africans had to seek advice
from their fellow Africans instead of completely paying their trust to the
white men. For example: Husbands like Meka could sometimes seek advice
even from their wives.

In “‘Houseboy’ by Ferdinand Oyono, the candidates discussed the character
who faces the mistreatment is Toundi. The candidates were able to explain
the following:

Toundi’s mistreatment of being exploited by Fr. Gilbert. In this novel,
Toundi experiences exploitation when he works at Fr. Gilbert’s house as a
houseboy. Toundi is paid in kind; old clothes. Such kind of payment
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demonstrates the exploitative nature of the whites over Africans. This act,
apart from being exploitative is also a mistreatment to Africans who are
looked down upon by the whites as commodities of little value. The only
value Africans have is labour power so, to resolve this problem, it would
have been suggested a fair payment to workers. This will help them to have
commitment to work because at the end they will reap the fruits of their
labour.

Toundi is segregated by the white men. This is shown in the novel when
Toundi is having his own seat, different from whites who have special seats
in the church. Toundi and other blacks do not share seats with the whites.
This kind of mistreatment embarrasses Toundi to the extent of thinking that
he is half of a human being. To resolve such mistreatment, one would
suggest the abolition of classes among people in society. This will help to
have a society that maintains equality and equity among the people. That
could be achieved via struggle among the segregated.

Toundi is victimized by Madame Suzy. This is shown when Toundi who is
being victimised by Madame Suzy who suspects him to have disclosed the
secret about her love affair with the prison Director. Madame Suzy finds
her way to make sure that her husband (Chief Commandant) beats up
Toundi. Later on Toundi is suspected to have stolen the Agricultural
engineer’s money and gets arrested. He is beaten up by the police until one
of his ribs gets broken. He suffers serious injuries and finally dies. This is a
serious mistreatment to the innocent Toundi. In our society, there are
people who experience the same kind of mistreatment. To resolve such
mistreatment, governments should enact laws that protect the welfare and
rights of people. In colonial society, the only way is to struggle for
freedom.

Toundi is being beaten severely by his father for no serious reasons. This is
shown through the main character, Toundi who is severely beaten by his
father whenever he does something wrong. His father uses a lot of energy
to punish him (beating and cursing). To escape from his father, Toundi runs
to the white Missionary to seek refuge. This can also be experienced in our
societies where some parents are very harsh to their children. To solve this
problem of brutality, it would have been suggested that parents should find
other means to rectify children rather than beating them. The government
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should enact laws that are meant to protect children against violence and
torture. For governments, it could also be suggested that they enact laws
that protect children against violence.

In ‘A Walk in the Night’ by Alex La Guma the candidates described the
character who faces mistreatment is Michael Adonis. The discussion on the
mistreatment he encounters and how they would have been resolved is
made as follows:

Michael Adonis is oppressed and humiliated by white men. This is shown
when Michael Adonis is dismissed from the job by his white foreman after
leaving the office door for a short call. This is mistreatment because
attending a call of nature is the right of every human being and it is out of
control of an individual. This mistreatment indicates the highest form of
unfair foremanship and exploitation exercised by employers against the
employees. This is unfair to him because it is his right as an employee to
take short breaks, attending calls of nature being inclusive. To resolve this
mistreatment, one would suggest that the government takes control of
private and public employees by formulating and implementing labour laws
and policies that safeguard the employees in their working places to
increase productivity.

Michael Adonis’s mistreatment of being segregated by the white men. It is
shown in the reading when Michael Adonis is not allowed to interact with
the whites regardless the fact that he works for them. Adonis is segregated
by the whites to the extent of not being allowed to look into the eyes of the
white men. This is very unfair to Michael Adonis because it makes him feel
inferior over the whites. Such forms of segregation at working places are
not good as they create hostile relations between employees and employers
and they are likely to lower workers’ esteem leading to low productivity
because it makes workers feel unneeded to the organization. To resolve this
problem of segregation, it is suggested that active workers’ unions be
formed in working stations to synchronize working environments for
employees. This would promote fairness in working stations and finally
equality among members of the society will be achieved by demolishing all
elements that promote segregation.
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Michael Adonis is exploited by the whites. This is shown when Michael
Adonis is forced to work for long hours a day to the extent that he is not
allowed even to go to the toilet. Although he works for long hours his life
does not change. He lives in a squatter house renting one room and later on
after being jobless he joins the bandits in the streets. Exploitation is
evidenced more when his survival at the institution is full of conditions in
such a way that he is not allowed to interact with his boss. This is very
unfair to Michael because he fails to demand and question on some of his
rights from his employers. Too much bureaucracy and classes at an
institution may cause workers to fail to express their concerns when they
are being mistreated. As it is in the case of Adonis, it makes workers to
experience fear and insecurity. To resolve this problem of exploitation, one
would have suggested that labour laws and policies be formulated and
implemented accordingly in order to ensure fair treatment of workers.

In ‘The Concubine’ by Elechi Amadi the candidates portrayed how the
author uses lhuoma as the main character to show the theme of
mistreatment. In the book it has been shown as follows:

Ihuoma is oppressed by Madume who threatens to beat her. This is shown
when Madume is struggling to take Thuoma’s piece of land by force. What
Madume does to lhuoma is to humiliate her because he takes advantage of
her widowhood to snatch her late husband’s land. Madume looks down
upon lhuoma because she is a woman and she cannot challenge him. To
solve this mistreatment, one would advise Ihuoma to report the matter to
the authority so that fairness and justice could be granted. This would bring
a lesson to other members of the society who humiliate women by denying
them their rights. Such measures would also promote fair treatment of
people in the society regardless of their gender, economic and social
differences.

Mistreatment is shown through Thuoma who is pressurized by her mother to
get married out of her own will. This is shown in the novel when her
mother pressurizes lhuoma to get married to another man after her
husband’s death. This is unfair to Thuoma because the question of whether
to be married or not is a private affair. The pressure from her mother is a
perpetuation of traditions which divest the rights of women. To get rid of
such a problem, one would suggest that the government and non-
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government organs that deal with human rights, especially women rights to
intervene in such situation in order to help women who are denied their
rights in the society. Girls'women like lhuoma should stand strong and
reject being forced to marry against their will.

Ihuoma is humiliated. This is shown through Madume who decides to
compete with lhuoma over a piece of land which belonged to her late
husband. Surprisingly, Madume harasses and threatens to bit Ihuoma when
he finds her on the piece of land harvesting plantains. This gives an
implication that Madume disregards Ihuoma simply because she is a
woman and therefore she does not have any voice in the society.
Furthermore, Madume takes advantage of the death of Thuoma’s husband to
grab her land. To solve such a problem, it would have been suggested to
have strong campaigns on gender balance issues and rights of widows. The
government has to formulate laws and policies that encourage women’s
participation in different programs in order to make their voice to be heard
in public.

It is not good to mistreat people in the society because it makes them to be
disappointed and their self-esteems getting harmed eventually.

A sample of the correct responses to this question is illustrated in Extract
8.1 below:
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Extract 8.1 A Sample of Correct Responses to Question 8

were also candidates who scored average marks in this question.
Their scores ranged from 4.5 to 9.5 marks out of 15. They tried to explain
the mistreatments which people face in the society and how they would be
by using characters. However, they did not manage to exhaustively
suggest appropriate solutions to the mistreatments they mentioned. Some of
the candidates could also not introduce and conclude their essays credibly.

Extract 8.2 is a sample response of candidates who got average scores in
this question.
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Extract 8.2 A Sample of Responses from a Candidate with Average
Performance on Question 8

Furthermore, there were candidates who scored low marks on this question.
They got scores ranging from 0 to 4 marks out of 15, which was a poor
performance for the question. Candidates who scored poorly in this
category failed to understand the question and they ended up providing
wrong points in their responses. They failed to provide well elaborated
responses due to low subject content mastery and their inability to express
themselves in written English. Extract 8.3 is a sample response that shows a
candidate who used Kiswabhili in giving explanations to points.
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Extract 8.3: A Sample of Incorrect Responses on question 8

The sample response in the Extract 8.3 shows that the candidates who
scored low marks in this question lacked not only good knowledge of
novels and the reflection of novels to the society but also lacked good
mastery of English language hence they failed to present their
understanding/views on the tested competences in this question. The
candidate similarly failed to write a good introduction which was required
in the question. The sample furthermore indicates that; the candidate’s
writing skills were low because in several paragraphs of his/her essay the
candidate started with small letters contrary to writing rules.

Question 9: Plays

This question intended to test the candidates’ competences in analysing
plays by examining how literary artists portray African traditions and
customs by giving a total of six (6) points from either of the plays, ‘The
Lion and Jewel’ by Wole Soyinka and ‘The Dilemma of a Ghost’ by Ama
Ata Aidoo.

African writers tend to portray traditions and customs of their localities.
Using a play either ‘The Lion and the Jewel’ by Wole Soyinka or ‘The
Dilemma of a Ghost’ by Ama Ata Aidoo. examine how literary artists
portray the African traditions and customs. (Give six points).
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The question was attempted by all 109,471 candidates which is equal to
100 per cent. Out of them, 12.97 percent of the candidates scored 9.5 to 15
marks which is good performance. Furthermore, 51.16. per cent of the
candidate had average performance by scoring 4.5 to 9.5 marks. However,
there were 35.87 per cent of the candidates who scored 0 to 4 marks and
had weak performance. The general performance on this question was
average because 64.13 per cent of the candidates scored 4.5 to 15 marks.
Figure 9 presents the detailed performance of the candidates on question
number 9.

100

60 51.16

35.87
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Figure 9: Performance of the Candidates on Question 9

There were candidates who scored high marks in this question. Their range
of scores was from 10 to 15 marks out of 15 marks. Hence, their
performance was good. Candidates who scored high marks were able to
examine in details the traditions and customs which are practised in Africa.
They started responding to the question by writing introductions, they
discussed the traditions and customs and concluded well. They managed to
show evidence from readings and established a good link with the reality in
the society.

In the play, ‘The Lion and the Jewel’ by Soyinka the candidates with high
scores depicted traditions and customs as follows: The author of this play
has pointed out that paying bride price before marriage is something which
is mostly valued in many African societies as illustrated in the play. In most
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societies a person is allowed to marry a woman/lady after he has paid full
bride price. Based on that, Sidi tells Lakunle that she could marry him at
any time after he pays full bride price. This is shown when Sidi says: ‘I
have told you and say it again, | shall marry you today, next week or any
day you name but my bride price must be first paid.’

To justify its importance, bride price is not paid to girls who lose their
virginity before marriage that is why Sidi tells Lakunle that she would
never marry him without the bride price because people would say she was
not a virgin as illustrated in the following statement. ‘They say | was not a
virgin that | was forced to sell my shame and marry you without a price.’
This tradition is conducted to express appreciation to the parents of the
bride for good guardianship. However some parents use it as a means of
economic gains. Henceforth, if it should be maintained, society ought to
observe the manner on how it is done and its consequences especially to the
girls.

The tradition of locally preparing and drinking alcohol is one of the
traditions shown in the play. This play shows that, the people of Ilujinle are
of the belief that the parents who are used to drinking too much liquor they
also drink on behalf of their children and the children of their children. This
is illustrated in the play when Sidi speaks to Lakunle as follows:

‘We know but your father drank so much, he must have drunk your share,
and that of his great grandsons.’

Even in other parts of Africa, people especially elders prefer sitting in
groups while drinking. This tradition gives opportunity to elders and
members of the society to have a space to share some issues that prevail in
their localities.

It is the tradition that, married women are not allowed to sit together with
their husbands on the same table. It is a tradition in many African families
that women and men eat separately. Usually, women sit on the floor and eat
the remains of food from their husbands’ plates. In this play, Wole Soyinka
uses Lakunle who is determined to liberate the people of llujinle, especially
women to point at this tradition. Lakunle tells Sidi that after their wedding
they would sit together at the table and eat together. Lakunle says:
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‘When we are wed, you shall not walk or sit tethered, as it were... together
we shall sit at table- not on the floor-and eat.’

This tradition indicates that in different contexts be it social, political or
economic men are at the top and women are next to them, therefore women
are weak and their autonomy is controlled by men. Some societies that
practise this tradition believe that, it was the way to discipline the women.
This has consequently turned out to deprive the rights of women and abuse
them like it is in Sadiku’s case with Baroka.

The senior wives have power to bless new wives when their husbands
marry them. There are societies where a man’s decision to marry a second
wife is unquestioned by senior wives. Sadiku blesses Sidi with her worldly
goods when she decides to be married to Baroka. This is shown in the
following quote:

‘I invoke the fertile gods. They will stay with you. May the time come soon
when you shall be as round bellied as a full moon in a low sky.’

After receiving the blessings, Sidi replies in the following words:

‘Now bless my worldly goods... come sing to me of seeds of children, sired
of the lion stock.’

This scenario does not only exist in llujinle but also in some other parts of
Africa where polygamy and clan hoods are dominant. It is a sign that
women should be humble and submissive in society. Furthermore, it is a
sign of obedience to the traditions and customs of the area in question. So,
what Sadiku does to Sidi is to condone the traditions of the people of
[ujinle.

Polygamy is a situation where a man marries more than one wife. When
such situation happens, the new wives always get the privilege of becoming
favorites of their husbands. In this play, Sadiku tells Sidi that she would be
the sweetest princess if she becomes Baroka’s jewel (Last wife). This is
seen when Sadiku says:

‘Well, will you be Baroka’s own jewel? Will you be his sweetest princess,
soothing him on weary nights? What answer shall | give my lord.’

This incident is perceived as devaluation of women and regarding them as
cheap commodities that any man can access. Sadiku’s value to Chief
Baroka has dropped compared to that of Sidi. This suggests that, when a
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man marries a woman and it happens that he is tied of her, he damps her
like rubbish and gets another one. In this situation, women are regarded as
instruments for sexual pleasure by men.

The tradition of an elder wife helping her husband to get another wife is
common in some African societies especially those which practice
polygamy whereby a husband can send an eldest wife to seduce a
woman/lady to become a wife of her husband. Baroka asks Sadiku his elder
wife to go and talk to Sidi so that she accepts to marry him. In such
traditions, a woman is under control of a man and decisions in the family
are done by men. Similarly, the decision about how many wives a man
should marry is made by a man. This tradition has deprived the rights of a
woman and lowered her dignity like it is in Sidi’s case to Baroka.

There are places in Africa where men get married to the wives of their late
brothers. This is known as the tradition of wife inheritance. When a certain
brother or relative dies and leaves a wife (a widow), any young
brother/relative in the family is obliged to marry her. Societies that practise
this tradition believe that, once a lady/woman is married in a certain family
and the bride price is settled she could never marry any other man from
another family. It is done so to streamline the generation/clan. Baroka in
this play marries Sadiku after his father’s death, the great OkiKki.

In ‘Dilemma of the Ghost’ by Christina Ama Ata Aidoo, the candidates
portrayed the traditions and customs portrayed by the playwright as shown
below:

Several African societies are built up on the foundation of togetherness,
brotherhood and neighbourhood; and it is from this perspective that many
literary writers put their focus when writing about Africa. The author
reflects it by using Ato’s society where Ato’s relatives come to great him
and his wife (Eulalie) when he takes her to the village. The relatives show
their love to the couple by bringing them gifts of different kinds. In the
play, Petu, one of Ato’s uncles say:

‘I am going now. When your wife wakes up, tell her I give her welcome. |
have brought some cocoyam from the farm and | will be sending her some
by and by.’
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Ato’s mother, after hearing that Ato and his wife are back to the village,
she brought some food for them as she tells Ato,
They told us when we arrived from the farm that you and your wife
have come to spend today and tomorrow with us. So, | thought I
would bring you one or two things for | hear food is almost un
buyable in the city these days.
Like it is the case in many African families and tribes, the feeling of love
and cooperation strengthens unity and peace in the family and society. This
tradition ought to be maintained to bring about social tranquility and
progress.

The belief that the dead are connected to the living is manifested through
Nana who wishes she had died before her grandson, Ato after he had
married a foreign woman. Nana believes that the ancestors will blame her
for allowing Ato’s marriage which does not observe the norms of the tribe.
This is observed when Ato’s grandmother, Nana, says the following,
‘My spirit mother ought to have come for me earlier. Now what shall
| tell them who are gone. The daughter of slaves who comes from the
white man’s land. Someone should advise me how to tell my story. My
children, I am dreading my arrival there, where they will ask me news
of home....... that one of their stocks has gone away and brought to
their sacred precincts the way farer.
Nana’s intuition is a form of customs that intend to spread the acts of
superstition which many elderly men and women practise in the society.
Such beliefs propagate social stagnation and rigidity.

It is also depicted in the play that marriage is not a personal issue. In some
societies in Africa, parents choose spouses for their children. It is not
allowed for a son or daughter to marry without involving parents. In the
play, speculations from neighbours (the first and second woman) show that
Ato’s mother has also seen a family to ask the family’s for daughter’s hand
in marriage to Ato. She even sells a goat to prepare the bride price that she
would pay when Ato is ready to marry. The second woman says:
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‘I do not know my sister. But | heard them say that his mother had gone to
knock the door of Yaw Mensa to ask for the hand of his daughter for him.’
This tradition has persisted in many parts of Africa to the extent that some
parents betroth their daughters and sons for economic, spiritual or tribal
motives.

The belief in spirits and supernatural powers in some societies and tribes in
Africa is manifested through the belief that their lives are under the control
and protection of some natural powers which they refer to as their gods.
Whenever anything bad happens to them or any of their members, they talk
to them and conduct some rituals to ask for help from their gods. In this
play, the belief is portrayed through Ato’s kinsmen who believe that there
are enemy spirits which make Eulalie not to conceive. The elders bring
traditional medicines to wash Eulalie’s stomach and ask the ancestors/gods
to bring Ato and Eulalie a child. This happens because in some traditions,
including Ato’s it is believed that once a couple gets married, they must get
children as quickly as possible.

The tradition of bride price payment is highly practised in many parts of
Africa. In the play, Ama Ata Aidoo uses Ato’s mother to portray it. She
sells her sheep for the sake of her son’s bride price when he gets ready for
marriage. In Africa, bride price ought to be paid by the bridegroom’s
parents to the bride’s family before marriage. It is believed in some
societies that, men who don’t pay bride price before marriage don’t get
respected by the bride’s family members. In some societies this tradition is
considered an honour and appreciation to the bride’s parents but some
parents cross the line and use it as the means of accumulating wealth; to get
it, they push their daughters into early marriage.

The writer shows that Ato’s relatives do not believe that there are people in
the world who do not belong to any tribe. This is shown when Ato tells
them that his wife does not belong to any tribe. This shows how they (Nana
and Esikom) are tribalibalists because the question of marriage has nothing
to do with one’s tribe this is rather the perpetuation of tribalism and social
division. The tradition of tribal marriages is common in many African
societies where some parents and guardians force their sons and daughters
to marry partners from their tribes sometimes at a very young age. In highly

70



traditional societies, proposals for marriage are done by the parents on
behalf of their children hence these marriages do not last longer.

Extract 9.1 is a sample response of a candidate who responded well to this
question.
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Extract 9.1 A Sample of Correct Responses on Question 9

There are also candidates who scored average marks. Their scores ranged
.5 t0 9.5 marks out of 15 marks. Their performance was categorised
as average. The candidates who got average performance on this question
managed to discuss some traditions which are shown by the playwrights in
the plays but could not exhaustively discuss with credible examples by
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showing how such traditions and customs operate in society. Extract 9.2
shows the sample of a candidate with average performance.
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Extract 9.2 A Sample of Responses from a Candidate with Average
Performance on Question 9

Furthermore, there were candidates who scored low marks on this question.
Their scores ranged from 0 to 4 marks out of 15 marks, which was
categorised as poor performance. The candidates whose scores ranged in
this category failed to examine as expected the traditions and customs that
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exist in their localities. Some of the candidates only mentioned the
traditions but did not provide relevant explanations about them and how
they are practised in society. Some of the candidates stated other things
which are not related to traditions or customs due to their failure to
understand what traditions or customs are. A sample of the incorrect
response to this question shows that the candidate did not understand the
question and he/she had no idea of African traditions and customs even
those which are from his/her area. Extract 9 shows the sample of a
candidate with incorrect performance.
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Extract 9.3 A Sample of Incorrect Responses on Question 9
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2.3.4 Question 10: Poetry

This question tested the candidates’ ability to apply the knowledge gained
from poetry by selecting different themes from two poems and showing
their relevance to contemporary Tanzanian societies. The candidate was
required to provide three points for each poem.

This question was attempted by 109,471 candidates which was equal to 100
per cent of the candidates. A total of 40.05 per cent of the candidates scored
10 to 15 marks and their performance was good. Moreover 46.38 of the
candidates scored 4.5 to 9.5 marks which termed as average, 13.57 per cent
scored marks from O to 4 and their performance was low. The general
performance on the question was good because 86.43 per cent of the
candidates scored 4.5 to 15 marks. The performance of the candidates on
this question is illustrated in figure 10.
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-
0

0.0-4.0 45-95 10.0 - 15.0
Scores

40.05

Percentage of Candidates

Figure 10: The Performance of the Candidates on Question 10

The analysis reveals that there were candidates who scored high marks in
this question. Their scores ranged from 10 to 15 marks out of 15 marks.
And this performance was categorized as good. Such candidates
demonstrated the required competences and knowledge on the section of
poetry. The items response analysis shows that these candidates understood
well the question and they provided good responses by writing good
introductions, contented main bodies and comprehensive conclusions. They
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had good knowledge of poetry and understanding of the happenings in their
societies. They also had good command of the English language which
enabled them to attempt the question correctly.

These candidates responded to the question by making reference to the
poem, “The Song of the Patch and the overcoat” by Bertolt Brecht.

In the poem exploitation is portrayed as the persona is surprised by the
representatives’ report from the boss. It is very little compared to their
problems. The whole factory but it seems there are few people who enjoy
the National cake. People like the persona are given leftovers (1% stanza).

In the contemporary society the issue of exploitation happens at different
levels; workers with their bosses, government representatives with voters
and many others.

In the poem the candidates described poverty as follows; the persona
complains that they are freezing because their overcoat is ragged; which
means they lack clothes. In the second stanza, the persona talks about
hunger and starvation, lack of food and clothing that are sign of poverty. In
our societies, poverty is a big challenge from the individual level to the
national level.

Protest in the poem is shown through two conflicting classes; the exploiters
and the exploited. The exploited decide to start a protest after seeing that
there is persistent exploitation. In the third stanza, the persona says:

‘We need more than patches

We need the whole overcoat too

We need much more than the breadcrumb

We need the loaf itself

We need much more than a job

We need the whole factory....~

In our society, people protest against the abuse of human rights. There are
those who are conscious of the evils done by those who have been trusted
with leadership positions. Hence, they come out and protest against such
wrongs so as to build a just society that cares for and respects the dignity of
every person.
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In the poem, hypocrisy has been shown by two groups of people. There is a
group of leaders and the group of people who belong to the lower class like
the persona. Leaders are hypocrites because they try to show concern to
people’s problems by running to the bosses. When they come back, they
give little of what they get for their people, instead of distributing it
equally. This means they are selfish and hypocrites since they preach what
they do not practise. The poem in one of the stanzas reads:
‘You must be helped in every possible manner

And full of zeal, you run off to the bosses

While we who freeze are waiting

And you come back and triumph

Show us a little patch’

Such leaders are also found in our societies. There are still a few of them
who pretend to care for the people they lead while loading their stomachs
with delicious cakes through the sweat of the poor majority.

The candidates who scored high marks also used the poem, “A Freedom
Song” by Marjorie Macgoye to portray the themes as follows:

In the poem, the persona reveals the issue of exploitation done to girls who
live with their relatives. One of the good examples of these girls is Atieno
who does all the domestic chores but is paid nothing by her uncle just
because she is his sisters’ daughter. This is evident in the stanza that reads:
‘Since she is my sister’s child
Atieno needs no pay’

In comparison, there are many children today, in different societies
especially in big cities who are employed as house maids and house boys in
homes. Hence their rights as children are being abused. Atieno is used in
the poem to represent these children. The poet raises the voice for people
like these innocent children who cannot speak for themselves.

The theme of hypocrisy is also evident in the poem; the poetess portrays
hypocrisy among some political activists who contribute a lot of money for
the progress of their parties and the societies while their own relatives
suffer in abject poverty. The poem reveals:
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‘...pay the party union fee
All for progress: Aren’t you grateful
Atieno yo’

Based on this quotation, Atieno’s uncle shows hypocrisy even during
Atieno’s funeral when he buys a lot of meat and sugar to feed the people
who attended the funeral. He pretends to be responsible while he is not. His
intention is to show people that he cares for her while he never cared for
her. The poor girl has been suffering in his household. The poem reads as
follows to demonstrate this state of affairs.

‘...meat and sugar more than all

She ate in such a narrow life

Were lavished on her funeral’

Protest is also manifested in this poem too, Atieno protests passively
against her uncle who mistreats her. When she wants to be sent to school
and be given clothes and shoes like other children.

‘...since she minds them, like a school girl

Wants their dresses, shoes and beads...’

This quotation shows that Atieno is not satisfied with the way she is treated
and hence she protests. She expresses that dissatisfaction.

Similarly, from the poem ‘Eat More’ by Joe Corrie, different themes are
depicted and explained by the candidates as follows:

Hypocrisy in the poem is also explained by the candidates. The persona
reveals that the government has people full of hypocrisy because the slogan
which they are proposing for people to follow does not match with the real
life situation of ordinary citizens, the poem reads as follows:

‘Eat more fruits: the slogan say

More fish, more beef, more bread!

But I'm on unemployment more pay

My third year now and wed’

From this verse, it is evident that the upper class is hypocritical because it
introduces slogans without considering the economic status of the people.
This makes the persona to be angry and disappointed. This entails that
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leaders must come up with slogans that suit the needs and conditions of the
people.

The theme of exploitation is also shown in the poem. The persona reveals
unequal distribution of resources in his/her society. According to him/her
there are people in society who can afford to eat balanced diets while others
including himself cannot. This gives the implication that, those who belong
to the upper class exploit those in the lower class. The rich tell the exploited
and unemployed to eat more fish, meat and bread. So, it is obvious that the
exploitative and selfish nature of the upper class people has impoverished
the masses in which the persona is also a member; that is why he angrily
complains. He says:

‘The only one that would suit me

Eat more Bloody Grass!”’

Poverty is shown in the poem through the proposal that people should eat
fish, meat and bread. Unfortunately, people like the persona cannot afford
to buy such foodstuffs because they are poor and some of them are
unemployed. This is common among most of the leaders in Africa preach
things that their citizens cannot afford to buy for their household use. The
stanza reads as follows:

‘eat more fruit, the slogan says...

And so I wonder when I'll see

The slogan when I pass

The only one that would suit me

Eat more Bloody Grass!

Also, in the society, there are people who experience the challenges which
the persona in this poem is complaining about. There are those who are
stricken by extreme poverty to the extent that they cannot afford to get food
while others face the challenge of joblessness. The poet shows that poor
planning and inefficiency of those in power (policy makers) has made the
majority to live a poor life. In the poem it is also shown that the persona
raises the voice of the unemployed and condemns improper planning of
leaders.
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Protest is shown in the poem as the persona protests against the slogan
which is introduced and suggests his own slogan “Eat more bloody grass”
because he/she cannot afford expensive food like the well-off families (rich
people) do.

Having exhausted the content, candidates were required to provide
concluding remarks regarding the contribution they made in the main body.
This was done by candidates showing their stand point on the proposition
given in the question. For instance, in this question, the suggested
conclusion was as follows:

Poems do not only address similar issues that are happening in our
societies but also raise awareness to people on the happenings in the
society.

Extract 10.1 below shows a sample response of a candidate who scored
high marks in this question.
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Extract 10.1: A Sample of Correct Responses on Question 10

The Extract above shows that the candidate managed to select different
themes from two poems and illustrated their relevance to the society by
giving correct quotations from recommended poems.

In this question, there were also candidates who scored average marks.
Their performance ranged from 4.5 to 9.5 marks out of 15 marks. The
response analysis on this question shows that, candidates who got average
scores in this question provided responses with moderate introductions and
explanations of the themes which were depicted in the poems. They also
tried to support the themes they mentioned with quotations from
recommended poems. A sample in Extract 10.2 shows a response of a
candidate who wrote a fairly good introduction. He/she provided a poor
definition of the term poem and wrote the titles of poems referred in small
letters without quoties.
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Extract 10.2 A Sample of Responses from a Candidate with Average
Performance on Question 10

Furthermore, the sample extracts 10.2 the candidate’s quoted verses
incorrectly compared to how they appear in the texts. There was no clear
connection between what was quoted and the explanation given. In the first
point, the candidate quotes, ‘Atieno wash your dishes’ instead of ‘Atieno
washes dishes’ and ‘Atieno plucks your chicken’ instead of ‘Atieno plucks
the chickens.” The candidate also used the poem ‘Development’ by Kundi
Faraja which is not recommended for this section.

Also, there were candidates who scored low marks in this question. Their
scores ranged from 0 to 4 marks out of 15 marks. Therefore, they had poor
performance. Candidates who had such scores lacked good knowledge of
poetry especially on themes hence they failed to provide the required
responses to this question. Some of the candidates explained well theme but
failed to show their relevance to the society while some of them used
novels and plays to answer the question. Extract 10.3 is a sample of a
candidate who gave poor response in this question.
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Extract 10.3 A Sample of Incorrect Responses on Question 10

The extract above shows that the candidate mentioned the themes from
poems but he/she could not provide concrete/clear explanations to them. It
is revealed from the sample that the candidate could not provide relevant
quotations from the recommended poems to justify the themes he/she
picked from poems relate with his/her society. Poor writing skills,
ungrammatical language and low mastery of the English language are also
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3.0

among the reasons that limited the candidate from providing the expected
responses to this question. Hence candidates ended up scoring low marks.

PERFORMANCE OF CANDIDATES ON EACH TOPIC

In the 2022 Literature in English examination, four topics were examined,
namely; Introduction to Literature, Appreciating Plays, Appreciating
Novels and Appreciation of Poetry. The analysis shows that all topics
performed averagely because 63.38 per cent passed in Introduction to
Literature. Moreover, 60.84 per cent passed in Appreciating Plays, while
60.74 per cent passed in Appreciating of Poetry and the analysis further
shows that 42.6 per cent passed in Appreciating of Novels.

CONCLUSION

The analysis of the candidate’s performance in 024 Literature in English in
2022 examinations shows that, the performance was average because 60.26
per cent of candidates passed the examination with different grades. The
performance per topic indicates that the introduction to literature topic was
performed well by students at 63.38 per cent. However, the candidates had
some difficulties in appreciating novel since only 42.6 per cent passed.

The analysis generally shows that there were candidates who wrote their
responses using language appropriately and they managed to show good
mastery of the competences which were tested. However, the response to
essay-type questions was a challenge to some candidates. They
misinterpreted some questions.

The lack of good English language command made them fails to read and
comprehend the questions and they hence ended up giving irrelevant
responses to the questions they attempted. Some candidates failed to
present their ideas coherently even after they had read and understood the
questions. Some of the candidates wrote their responses/answers using
Kiswahili language. Lack of adequate subject content led some candidates
to provide partial responses to questions hence scored low and average
marks.
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4.0

RECOMMENDATIONS

In order to improve the performance of the candidates, in 024 Literature in
English subject in the future, the following recommendations need to be
taken into account:

(i) Teachers are advised to teach this subject using student centred
methods. Learners should be assigned to read literary texts
independently, recite and compose poems and perform plays. This will
equip students with plenty of language skills and understanding of the
reality of their societies.

(i) Teachers and school administrators are advised to put emphasis on
students’ using the English language all the time while at school. This
will boost students’ linguistic abilities especially in the four language
skills; reading, speaking, listening and writing which appear to be
lacking among some learners. English language mastery can help
students to have the ability to express themselves when responding to
questions in the examinations.

(iii) Since some candidates made reference to works which are not

recommended teachers should insist and inform students about using
only the relevant recommended reference/book or poems.
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Appendixies

Table 1 Appendix A: Summary of the Candidates’ Performance by
Topic in the 2022 CSEE

S/IN Topics Percentage Remarks
1 | Appreciating Plays 60.82 Average
2 Introduction to Literature 63.38 Average
3 | Appreciating Poetry 60.74 Average
4 | Appreciating Novels 42.60 Average

Table 2: Appendix B: Percentage of the Candidates’ Performance in
each Section

Question | Percentage of the Candidates
S/IN | Section | Number | who Had the Average of 30 Remarks
Per Cent and/or Above

1A
2 B 4 43.65 Average
3 C 4 62.67 Average
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